



Government of West Bengal Directorate of Forests Office of the Divisional Forest Officer Kangsabati North Division



Raghabpur More, P.O. & Dist. – Purulia, Pin - 723101 (Ph. No.- 03252-222231, Fax No. - 03252-227468 & E-Mail: dfoknd@gmail.com)

NOTICE INVITING QUOTATION NO. - 048, dt - 09/07/024

Sealed quotations addressed to the undersigned by name (Sri. Anjan Guha, IFS) and not by designation is invited for doing the following works from the reputed NGO / Contractor / Agency / Person having valid trade license, IT, GST and PAN card . The Rate should be quoted against per items mentioned bellow:-

Sl. No.	Description	Quantity	Total Estimated value with GST	Quoted Rate including GST	
	Electric Repair & Maintenance work at Bishpuria Timber Depot under Hura Range.	1 No	99682.00	0 H TI	

The quotation should reach to this office by 18 / 07 / 2024 up to 3:00 p.m. without fail. The quotation will be opened tentatively on the same date at 4:00 p.m. The quotationer may remain present the opening of the quotation paper.

Terms & Conditions:

- The quotation should be submitted in sealed cover by Hand or Post.
- The materials to be supplied/construction to be made must be approved by the concerned Range Officer. 1.
- All construction/Supply works should be as per with the approved estimates. 2.
- The quotationers have to submit self attested copies of the valid income Tax Certificate, GSTIN, Pan and 3. 4.
- The undersigned has sole authority to accept or reject the lowest quote without showing any reason.
- They should submit credential for same nature of Work of equivalent amount for last three years at least. 5.
- In case of any dispute the interpretation of the undersigned will be final. 6.
- In case of absurd lower rate offered in comparison to existing market rate, detail break up of work have to be 7. submitted within 1 (one) day of opening of quotation with proper justification. 8.
- Work order will be issued on approval of competent authority & as per availability of fund.
- Bill will be raised after getting completion of all work and proper checking by the concerning Officers. 9.
- 10. Materials to be delivered in good conditions.
- Deduction of Income Tax and Cess and any other taxes as applicable from the supplier's bill will be made as 11. 12. per Govt. rules.
- Any difficulties may be contact to the concerning Range Officers. 13.

Divisional Forest Officer Kangsabati North Division

Ex-Officio Divisional Manager W.B. Forest Development Corpn Ltd



Copy forwarded for information and necessary action to :-

- The all DFO's, Purulia Division, Kangsabati South Division, Extension Forestry Division, Purulia. 1. 2.
- The Assistant Divisional Forest Officer, Kangsabati North Division, Purulia.
- The Sabhadhipati, Purulia Zilla Parishad, Purulia. 3.
- All Range Officers, Kangsabati North Division, Purulia. 4. 5.
- The Karmadhakshya, Ban-O-Bhumi Sanskar, sthayee samity, Purulia Zila Parisad. 6.
- The District Information & Cultural Officer, NIC, Purulia. He is requested to upload the quotation notice on the
- The Chief conservator of Forest, MIS, West Bengal. He is requested to upload the quotation notice on the 7. Departmental Website. 8. Notice Board.

Divisional Forest Officer Kangsabati North Division

8 Ex-Officio Divisional Manager W.B. Forest Development Corpn Ltd

FOREST DIRECTORATE KANGSABATI NORTH DIVISION RECORD OF SANCTIONED WORKS

Forest Range	Hura Range
1 ,	Time in the second of the seco
Nature of Works	Electric repair & maintenance works at Bishpuria Depot
2 H/s.:	
Number and date of sanction	n
3	
Amount sanctioned	
4	

Estimate preparted for doing the following works in c/w Electric repair & maintenance works at Bishpuria Depot under

Hura Range

	Hui	a Range				
SI. Io.	Description	Mater		No. of Mand ays	Rate	Total Amount
ores	SUB -HEAD: 1 SUPPLY OF CABLES Supply of 4/3.5/2 Core XLPE HWA halfage & Sheathed Armoured Al. Conductor cables for working Voltage up to 1100 Volts of following sizes [Make Nicco /Polycab/Gloster /Havells]					errinthmise Castilla
	Main Donal to VTPN DR	18	Mtr		850.00	15300.00
	4 Core 95 sqmm [From Main Panel to VTPN DB]	66	Mtr		150.00	9900.00
	4 Core 25 sqmm [From VTPNDB to PDB]	58	Mtr		140.00	8120.00
	4 Core 16 Sqmm [From Panel to building light]	40	Mtr		89.00	3560.00
	2 Core 10 sqmm [From PDB to SPNDB]	40	11101			
	SUB -HEAD:-3 CABLES GLAND & SOCKET Supplying and fixing compression type gland complete with brass gland, brass ring & rubber ring for dust & moisture-proof entry of XLPE/PVC armoured cables as below		ž.			
2					246.00	3690.00
	4 Core 95 sqmm [F-4/7©]	15	Each		246.00	3060.00
	4 Core 25 sqmm [F-4/7©]	18	Each		170.00	1946.00
	4 Core 16 sqmm [F-4/7©]	14	Each		139.00	4840.00
	2*Core 10 sqmm [F-4/7(a)]	40	Each		121.00	4640.00
	Finishing the end of following XLPE/PVC armoured cables by crimping method incl. supplying and fixing solderless socket (Dowels make), tapes, anticorrosive paste & jointing materials:					
3	4 Core 95 sqmm [F-5/8(b)(xviii)]	9	Set		326.00	101000
	4 Core 25 sqmm [F-5/8(b)(xiii)]	10	set		121.00	100000
	4 Core 16 sqmm [F-5/8(b)(xii)]	12	set		100.00	-00.00
	2 Core 10 sqmm [F-5/8(b)(iii)]	8	Set		36.00	288.00
4	SUB -HEAD:-4 DISTRIBUTION WIRING & WIRES Distn. wiring in 22/0.3 (1.5 sqmm) single core stranded 'FR' PVC insulated & unsheathed single core stranded copper wire (Brand approved by EIC) in 19 mm bore, 3 mm thick polythen pipe (for horizontal & vertical run in wall and celing portion through prelaid polythen pipe) complete with all accessories embedded in wall to light/fan/call bell points with Modular type switch (Brand approved by EIC) fixed on Modular GI switch board with top cover plate flushed in wall incl. mending good damages to original finish 2x22/0.3 (Ph. & N) and 1x22/0.3 as ECC[Avg Run 10 mtr] E-20/2(iv)]	10	points	3	1288.00	12880.00
	ω	1			l l	

FOREST DIRECTORATE KANGSABATI NORTH DIVISION RECORD OF SANCTIONED WORKS

Forest Range		Hura Range		
1		Electric repair & maintenance works at Bishpuria Depot		
Nature of Works		Electric repair & maintenance works at Dishpuna Depot		
2	H/s.:			
Number and date of	f sanction	1		
3				
Amount sanctioned				
4			 	

Estimate preparted for doing the following works in c/w Electric repair & maintenance works at Bishpuria Depot under

	H	ura Range				
Sl. No.	Description	Materials	No. of Mand ays	Rate	Total Amount	
5	SUB -HEAD:-7 PLUG POINTS Supply & Fixing 240 V, 4 nos. 6 A, 3 pin Modular type plug socket with 4 nos. 6A Modular type switch (Brand approved by EIC), 16A Modular switch type MCB (C-Curve) and Indicator without plug top on 2 row 18 Module GI Modular type switch board with 2 row 18 Module top cover plate flushed in wall incl. S&F switch board and cover plate and making necy. connections with PVC Cu wire and earth continuity wire etc.[E-18/12]	7 Each		1776.00	12432.00	
6	SUB -HEAD:-11 MISC Finishing of the PVC insulated wire ends by socketting with pin/ ring type copper sockets and insulated tapes etc., including supplying sockets, tapes.2.5sqmm [F-5/9(i)]	36 Each		6.00	216.00	
7	Supply & Fixing angular batten holder (Anchor) on 75mm dia PVC round block / round bakelite on wall/ceiling.[D-13/22]	10 nos.		40.00	400.00	
8	Supply of 10W LED lamp 3000k (Make:Syska/ Philips / Havells)	10 Each		250.00	2500.00	
	Total:				84476.00 15205.68	
	Add GST @ 18%:		_		99681.68	
	Total Estimated Amount :		-		99682.00	
	Round Off:	1			35002100	

(Rupees ninety nine thousand six hundred eighty two) only

No. 351 /HU-2

dated 06 / 06 / 2024

Submitted to the D.F.O. / Kangsabati North Division, for favour of his kind sanction.

Forest Range Officer Hura Range